TRk 3048H8H

FE2MBELFEE-FE(S#E

SRR
= Y e =r s TS = b
[Z=])ER30FE4A 1 XRAIREAIZEDAERRRICONT
B TR 30EED4E LSEE LAV TAEL Aok BB DR FISHTY,
BRI I EE L Lo TEBLET DT, sETEELLTECEAL,
WEBN 1 AOBAEHNESBEADISRELNET O TIENRESETVELESET,
BRI BA OV TS B A TR,
FEBNEUIBARG. MBSIBCLICLDRELET,
EEABOVTIEER 2 9F 1 08 1 1 Bl SEBDET,
1 BuJ{RBh
B o0& 1% 2% 3% 4% 5k
- BEAB| 10 5 3 5 3 2
e 30 40 38 38 40 UL
= ¥ 12 12
. BENH 0 0 0 0
e 36 40
—— -
. BEAB| 13 9 6
e 29 40 40 41 TN 3E/\R8
e s 14 16 6 0 0 0
ZiEeE— -
Ei=t 26 37 36
ES
HEr %%%yﬂl 12 13 5 6 4 0
Ei=t> 35 37 26 25 39
ES
i BEAB| 10 8 0 4 0 0
Ei=t> 39 40 43
= SE A 21 14 2 1 0 0
- e 18 40 41 IELAS
ES
- BENB| 9 9 6 1 0 0
1% 35 40 34 TN
ES
EE %%%yﬂl 13 7 0 1 0 _ 2
e 25 25 TN UL
R BEAB| 13 6 1 2 0 0
e 30 39 TN 38
B0 %%{k;ﬂz 17 3 10 0 0 0
Ei=t> 25 41 25
LS BEAB| 15 9 6 0 0 0
Ei=t> 34 41 42
oy BEAH 0 0 1 3
e N R
s s A% 10 5 5 0 0 0
- e 25 40 38
EE———— BENE] 9 3 2 1 0 0
e 39 41 41 TN
s YOI 5 1 0 0 0
e 40 41 TN
A BEAS] 10 6 4 6 0 0
Ei=t 40 42 42 42
BEOL7 S BE 6 ! !
e 40 TN IE/\RE
. Z 1 1
— BENE| 8 5 0 0
e 40 40 TN IE/\RE
= Es
BERECEEE g 6 12 1
e 40 40 TN
= Es
BI0E %ﬁ‘kyﬂl 9 1 2
e 25 TN 41
= Es
SETBI—A %%%yﬂl 8 0 0 0
152 35




